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Uqpruhptrhp 95,560

03121200 Uurl\hrlrnttr2 UU huur 12000 I 12000

03121200 Ourl\hquurE uu hunn 35000 I 35000
03r00000 Ctrnrurlhtrn 47,000.0
1831 1 150 9mqruqnlplru UU hunn 1000 15 15000
18300000 Chnrurlhtrn x x X x 15000
19641000 Uqph qurplt uu rnnlqr 400 30 12000
19600000 eb+rutthbn x x x x 12000
24911600 htlntlufnu uu hrurn 3910 I 3910
24900000 Ctrnrutlttrn x x X X 3910
30197234 Orlpuqrutrur\ nhqlruurp uu hrurn 9s0 5 4750
30197231 faryaruqrutrur\trhn /$rHn / uu umrlr 1000 6 6000

mruuEun
31684400 .{up4ru\ hnqurhgnr-tfnr] UU hruur 6s0 1 6s0
31600000 Ctrnutfhhn x x X x 650
33711210 funhunl ruhd,hnnohb UU huu 550 25 13750
39221490 Uqnr-hq UU hunn 2600 2 s200

39831283 Zururur\tt Ztp UU hrutn 12s0 5 62s0

39800000 Chrlunthtrp x X X x 6250
4111 1 1 00 pttqhlm 2nlfr UU thunn 8 2100 1 6800
4110000 cLrluubLe I 6800

Orunrulnrplnrlrtrhn 14,975,400
32411 130 Zrutfiuqutrq / hlmhntrhu/ UU nnurtl 72000 1 72000
32400000 Ch4ruilhhp x x x x 72000
4s461 100 ChBurqhh il hnrutrnnnonul UU nnurtl s0000 1 50000
45400000 Ctr4uilttrp x X X X s0000
501 1 1260 Urunrnh nqh d hnulhnnncnrtf uu nnrutl s000 1 5000
50100000 Ctr4ruilhhp X X x x s000



50311120 Zurtfiu\ruF$ul hb uurnphnh UU 4pruil 98000 1 98000
503il300 lru+ uulruuunbmtl UU nnrutl 14400 1 t4400
50300000 Ctr+rurfhtrp x X x X 1 12400
50821200 I![Eh tlhputrnFnqnlil UU 4ntuil 3000 1 3000
50800000 Clqrurlhhp x X x X 3000
60171 100 lprlllu,q nFrnh {urp&ru\ur1ntp1 nrtr uu 4puril 260000 I 260000

60141100 onurthL ntR hnnunhnlurunnnttl uu nnunl 1 10000 4 440000
60100000 Ctqrurfhtrp X x X X 700000
64211 100 4h"*lutrurulfrtr brunruSnrplmtr UU 4Furil 260000 1 260000
64211340 Shn hh rurnrlrubrutr burnrurnr-prnrtr UU nnruil 60000 1 60000
64200000 Ctqutthtrp X x x X 320000
6s311100 h hh urnurb urhntrar uh nu rtutfruh UU nnrud 1000000 I 1000000
65300000 Chqunfhhp x x x X 1000000
661 1 1200 trurtrb rut hh brunrur r,.pr nrh uu nnrud 55000 I 55000
66100000 Ctr+rurfhtrp X x x X 55000
70131 100 Ghhph uutruutuntnlurh UU nnunl r20000 I 120000
70100000 Qlnrurlhhn x x X x 120000
71241200 hurtuurqbhnlr uluufruurnnttf, bruluut uu 4puril 900000 I 900000
71200000 Ctrnruilhtrn X x x X 9000007221tt74 ZO uut ruurunll ilrutr brunrutntBtnttr UU nnurl 95000 1 9s000
72200000 C\ruilhtrp X X x X 95000
72411300 9rutph uru ruurunb nr-tf UU nnurtl 20000 T2 240000
72400000 t\r4uilhtrp x X X x 240000
79111200 Lhp\urSrugmgpr\urh UU 4nulil 930000 I 930000
79131200 Erhb rnnntlu r htr urnnnul qnmnr uh uu nnunl 3000 I 3000
79100000 Clqrurlhtrp x X X X 933000
79211210 Zurrrlurwurhurburh uu nnunl 10000 T2 120000
79200000 Ch+rutfhhE X x x X 120000
/YS+LlUU Qnd urq nrut htr burnrul nlrdl mhhhn UU nnunl 500000 I 500000
79300000 C\rurlhtrp x X X x 50000079E2UU0(F $quqnmptnr-h UU nnrutl 690000 I 690000
79800000 Ch+turfhtrU X x X x 690000/y96I IUO LrluqLUurn)urhurh brunurrmrarndr UU nnurd 120000 1 12000079900000 CtrnrurlhhU x x x X 120000
92ILl 100 LUurnurhurtrnr-rf uu nnurtl )UUUUU I 500000YZIUUUUU Qtrnrurlhtrn x X X X 500000yzr)l IUU Shtutrhh urt h rl run&ruh rur mrarnrh uu nnurtl 70000 1 70000>ZJI I TUU Lhnbrururqilurtr qbnil UU nnurtf 6200000 I 6200000YZSL I IOLT

4hD hhuburrhh burnurmprnth UU nnunl 2000000 I 2000000
92300000 Chnrutlhtrn X X x X 8270000
92421100 Zrulrnrununnlrdl nrh rahnranul UU nnrurl 5000 4 20000yz4luuuuu I Clrnudhhn x X X X 20000
98391120 trhtfur\ruh qqhurnhhp \urph1 nr uu 4nuril 100000 I 100000
9831 I 130 Ltlru gtlurh burnurl ntpl nttrtrhp UU qfrulil s0000 I 50000

98300000 Cl4rurlhtrp x X x X 1s0000

Ctrr1ruilhtrp 15,07q960


